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(6] && A ={a,b,c.d} DEBDEAEIRCEl. (9] 115500 XTOEHDSS, 8 DEMSHDEERE A, 12 DEHDBEDEER B, 15 DEH2HE
é DEE=ZCLETD.

ta}, b} {ct{d}, a) n(A), n(B), n(C) ZZNZIKRDHK.
{a,b},{a,c},{a,d}, {b,c},{b,d}, {c,d},

A= {8n | n ([FIEDOEH, 1 < 8n < 500} = {n | n [FEDREL, L <n < 390
{a,b.c}.{a,b,d} {a,c.d}. {b,c.d}, ={n|n FEDEH,0.125<n <62.5} = {n | n FEDEH, 1 <n < 62}
{a,b,c,d} Ulehto T, n(A4) = 62

BRICLT, n(B) =41,n(C) = 33.
E£8 A ={a,b,c,d,e, [} DESDEALRDEER P £LTDEE, P DERDEH n(2) 7K b) n(ANB), n(BNC). n(CNA) ZZNZFIKRDK.
et AN B ={1H5500FTD 24 DEH} IZH'S, n(ANB) =20

BNC ={1H5 500 FTD 60 DEH } 205, n(AN B) =8

BAEEE a, b, c.d, e, f DENZNHEENDN, SFNELDTRESND. CNA={1D5500FTD 120 DELE ) F2H5, n(AN B) = 4

ZDREVE 20 BOBHDDT, n(P) =25 =64

c) n(AUBUC) ZK&k.
n(AUBUC)=n(A)+n(B)+n(c)—n(ANB)—n(BNC)—n(CNA+n(ANBNC)
=624+414+33-20-8—4+n(ANBNC)=104 +n(ANBNC).

TTT, ANBNC ={1H5 500 FTD 240 DL} 205 (AN BN C) = 4.
£5 A, B BhE2hES U OBHEAT LIeh' > T, n(AUBUC) = 104 + 4 = 108.
n(U) =100, n(A) =60, n(B)=40, n(ANB)=15

ThHhadEE, ROEGODERDELHZRD K.

a) 4 b) AUB

n(4) = n(U) — n(A) = 100 — 60 = 40 n(AU B) = n(A) +n(B) —n(AN B)
=60 +40—15 = 85

c) ANB d) AnB

n(AU B) =n(B) —n(A) =40 —15 =25 ANB LS,

n(AUB) =n(AUB)
=nU)—n(AUB) =100—-85=15
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